05 T 1 1 I |

— R2=0.84
041 p = 2.78E-32

0.3F

0.2

0.1F

Velocity, v,

0.0 |

0.1}

2 | | | | | |
—0.20-0.15-0.10-0.05 0.00 0.05 0.10 0.15 0.20 0.25
Derivative of S, 0S/dy

05 T 1 1 I |

— R?=0.38
0.4} p = 4.91E-12

0.3F

0.2

0.1F

0.0 |

Velocity modulus, ||

Gradient modulus, |V

.1 | | | | | | | |
—0.01 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08

0.15

— R?=0.040

0.10 | p = 4.32E-02 7

< 0.05} _ il

> ;o .

+J . ., . A 3

S 0.00 | - ¥ _."=..-..'.-|'._ |

o LI . -

g -0.05} .
-0.10} .
_015 l l l l l l

—0.25 -0.20 —0.15 —0.10 —0.05 0.00 0.05 0.10

Derivative of S, aS/dz

k 15 . . : .

~~

= — R?=0.677

T = 4.54E-26

bo 10 = p .

=]

<

c 05} .

o)

2

O

.g 0.0 | .

©

>

= -05f .

O

O

q) 1 0 l l l l

> -1.5 -1.0 -0.5 0.0 0.5 1.0

Gradient direction, angle(V,S)/x



